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SQL

create table Studentelscrizione(
matricola varchar(20) not null,
cognome varchar (30) not null,
universita varchar(30) not null,
primary key(matricola, universita),
foreign key (universita) references
Universita(nome)

Z:reate table Universita(
nome varchar(30) primary key,
via varchar(40) not null,
cap varchar(10) not null,
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Schema Relazionale

Studentelscrizione (matricola, cognome, universita)
FK: Studentelscrizione[universita] C Universita[nom

Universita(nome,nabitanti)
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SQL
create table Studentelscrizione( Schema Relazionale
matricola varcEar(Z?(’)g nottnulll,l Studentelscrizione (matricola, cognome, universita)
cognome varchar (30) not null, FK: Studentelscrizione[universita] C Universita[nom

universita varchar(30) not null,
primary key(matricola, universita),
foreign key (universita) references
Universita(nome)
) Vincolo Estreno: Via e Cap o sono
peresenti entrambi o mancano entrambi

Universita(nome,nabitanti)

create table Universita(
nome varchar(30) primary key,
via varchar(40),
cap varchar(10),
check ((nome is null and cap is null) or
(via is not null and cap is not null)

)
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SQL

create table Impiegati(
cod varchar(20) primary key,
eta int not null,
nome varchar(30) not null,
cognome varchar(30) not null,

)

create table Progetti (
cod varchar(10) primary key,
nome varchar(30) not null

)

create table Lavora(
impiegato varchar(20) not null,
progetto varchar(10) not null,
perctempo real not null,
foreign key (impiegato) references Impiegati(cod),
foreign key (progetto) references Progetti(cod),
primary key (impiegato, progetto)



SQL

create table Manager(
cod varchar(20) primary key,
budget real not null,
foreign key (cod) references Impiegato(cod)

create table Linguaggio(

create table Programmatore( nome varchar(30) not null,
cod _varchar(20) primary key, . versione varchar(30) not null,
foreign key (cod) references Impiegato(cod) primary key (nome, versione),

check ((nome,versione) in (
select nomelL,versionelL

create table Senior(
cod varchar(20) primary key, )form Usa
anzinita int not null, )
foreign key (cod) references Programmatore(cod) )
create table Usa( c;eozit(eexe;l;tsse{tlon DisjointISA check (
programmatore varchar(20) not null, select *
progetto varchar(20) not null, from Manager m,Programmatore p
nomeL varchar(30) not null, where m.cod = p1.cod
versioneL varchar(30) not null, )
primary key )

(progammatore, progetto,nomel,verisonelL),
foreign key (programmatore)
references Programmatore(cod),
foreign key (progetto) references Progetto(cod),
foreign key (nomeL,versionel)
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SQL

create table Impiegati(
cod varchar(20) primary key,
eta int not null,
nome varchar(30) not null,
cognome varchar(30) not null,

)

create table Progetti (
cod varchar(10) primary key,
nome varchar(30) not null

)

create table Lavora(
impiegato varchar(20) not null,
progetto varchar(10) not null,
perctempo real not null,
foreign key (impiegato) references Impiegati(cod),
foreign key (progetto) references Progetti(cod),
primary key (impiegato, progetto)



SQL

create table Manager(
cod varchar(20) primary key,
budget real not null,
foreign key (cod) references Impiegato(cod)

create table Programmatore(
cod varchar(20) primary key,
foreign key (cod) references Impiegato(cod)

)

create table Senior(
cod varchar(20) primary key,
anzinita int not null,

)

create table Usa(
programmatore varchar(20) not null,
progetto varchar(20) not null,
nomeL varchar(30) not null,
versioneL varchar(30) not null,
primary key

foreign key (cod) references Programmatore(cod)

(progammatore, progetto,nomel,verisonelL),

foreign key (programmatore)

references Programmatore(cod),
foreign key (progetto) references Progetto(cod),
foreign key (nomeL,versionel)

SQL

create table Impiegati(
cod varchar(20) primary key,
eta int not null,
nome varchar(30) not null,
cognome varchar(30) not null,
check ( cod in (select cod from Manager)
or
cod in (select cod from Programmatore)

)

Soluzione alternativa

create table Linguaggio(
nome varchar(30) not null,
versione varchar(30) not null,
primary key (nome, versione),
check ((nome,versione) in (
select nomelL,versionelL
form Usa

)
)
)

create assertion DisjointISA check (
not exists (
select *
from Manager m,Programmatore p
where m.cod = p.cod

)
)

create assertion CompletelSA check (
not exists (
select cod
from Impiegato
except
( select cod
from Manager
union
select cod
from Programmatore

)
)

create assertion DisjointISA check (
not exists (
select *
from Manager m,Programmatore p
where m.cod = p.cod

)

create assertion CompletelSA check (




